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ux =coefficient of kinetic friction
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us=Coefficient of static friction
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(Ex-1)~ A block of mass 60 Kg slrdes on horizontal sugace with acceleration

DUWpt v £
a = - 8 m/s2, the force of friction between the block and the surface is:
(a) - 360 N (b) - 480 N (¢) - 600 N (d) - 720 N

/B\ Solution: /B\ ~ aJ;
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(Ex-2)- A book rests on a table, exerting a downward force on it. The reaction to

U” s AJ;Q’ //)/'-‘}A 04.,,«_)) -5 b—\}J >/
this force is :
(a) Force from the Earth on the table. (b) Force from the book on Earth.
(¢) Force from Earth on the book. (d) Force from the table on the book.
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(Ex-3)- A block of weight 5 N moves with constant speed by a force of 2 N, the

r~~V
value of the coefficient of friction py is:
(a) 0.3 ) o.4 (¢) 0.5 (d) 0.6
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(Ex-4)- The coefficient of static friction (us) between a 5 Kg block and the horizontal
) s Qe
surface is 0.1, the maximum I/\owzomta( force that can be applied to the block just
‘ﬂ,) 'J/‘ U"’—’-"‘ c-"-e«’ ) »28
before starting to move is . .

(a) 19.6 N (by 24.5 N ¢) 4.9 N (d) @.8 N
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(Ex-5)- A 3.5 Kg block is pulled at constant velocity along

f
a horizontal floor by a force F = 15 N that makes an angle 10
m
40° with the horizontal. the coefficient of kinetic friction is.
(a) 0.34 (b) zero (c) 047 (dy 0.1 (e) 0.2
\/b/\ Selution: /5\/ »
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(Ex-6)- A body of mass 4 Kg pulled up by a force parallel to the inclined surface
F

(where 0 = 25°) at constant speed. If . = 0.2, the force F is:

(a) 2752 N (b) 281.7 N (c) 9.437 N (d)23.67 N

M_*ﬁfé\ Solution:
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(Ex-7)- A coin is placed on a flat surface, when the surface is titled 10° to the
R O et s JIE

horizontal the coin will start to wove. The coefficient of static friction between the
g LS JE
coin and the surface is:

(a) 0.286 (b) 0.325 ()0.176 (d)o.212 (e) 0.422

W Solution: /K\ﬁ
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(Ex-8)- A block is s{:dmg down at constant speed on a rough inclined angled at 14°

to the horizontal. The coefficient of kinetic chtlon of the block with the plane is:

(a) 0.4 (by 0.53 (¢) 013 (d)o.25 (e) 0.35
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(Ex-9)- A block is p{cg’ed on an inclined rough plane. If ps = 0.4, p = 0.3. the angle

between the inclined plane and the horizontal

inclined plane is .

if the block will start to slide doww the
g pp §e—y

(a) 33.4° (b) 26.2° (¢) 44.3° (d) 55.4° 1.8°
_\/ﬁ\ Solution: /ZS\/ﬁ e ‘
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(Ex-10)- 5 Kg block moves on a horizontal rough plane (px = 0.2). the acceleration of

et o5,
the block and the net force on the block.

(@) — 19.6 m/s? & 5.5N

&7’/‘

(b) — 3 m/s*> & 93N

(¢) —1.96 wm/s* & - 9.8N
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(Ex-11)- A block is given an initial speed of 10 m/s on a horizontal surface.
If ux = 0.15 between the block and the surface, the distance that the block slide

before coming to rest is.

(a) 33m (b) 25m (¢) 44m (d) 34m

\/zg\ Solution:
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(Ex-12)- A crate is sliding down on an inclined plane that is 35° above the

-

) &
horizontal. If the coefficient of kinetic friction (s O.4, the acceleration of the crate is:
g G Dy

(a) zero (b) 2.4 wm/s? (¢) 5.8 m/s? (d) 10.3 m/s?

W\ Solution:
a4 [5}«» 2 -/“us@]
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(Ex-13)- In the previous question, if the crate moves up on the inclined plane, the
acceleration of the crate is:

(a) 1.4 m/s? (b) - 24 m/s? (¢)-8.8 m/s? (d) zero

m Solution:

o =g (5in6 +f0)
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(Ex-14)- A 1.8 Kg block is released from rest at the top of a rough 30° inclined

plane. As the block slides down the inclined, its acceleration is 3 m/s> down the
I ”

incline. the magnitude of the force of friction acting on the block is.

(a) 3.8 N (by 2.3 N (¢) 4.2 N (d) 3.4N

M"“‘“\/?S\ Solution:
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(Ex-15)~ As shown in the figure, A block skg slidegp)ir

3V P o - I ew o Eey,
down an inclined plane of coefficient of friction of 0.2. .

A horizontal force 10 N acts on the block. If 8 = 25°,
25

the magnitude of the acceleration of the block is:
(a) 9.8 m/s? (b) 7.53 m/s? () 0 55 m/s? (d)a3F (s

m\ Solution: /é\[
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(Ex-16)- The two blocks are released from

A

rest and observed to move with acceleration M

a = 1.5 m/s?. What (s the magnitude of the

10 | ™+
frictional force on the block that slides horizontally?
(a) 204 N (b) 30.6 N () 75.5 N (d) 35 N (e) 18 N
™ \ \/ﬁ\ Solution: | 5 o~ a}/
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(Ex-17)- If my = 10 Kg m =02, my=3Kg

The acceleration of m, = is: ﬁ
(@) L.l /> (up) (b) 0 -
() 6.2 m/s? (down) (d) 8.2 m/s*> (up)

‘\/E\ Solution: /B\ ! B
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(Ex-18)- Block m; in the figure has a mass of 5 Kg and m; has a mass of 3 Kg. The
coefficient of friction between m, and the horizontal plane is 0.833 The inclined plane

is smooth. The tension in the string if the mass are rest is:

(a) 11.79 N (b) 14 N
(¢) 15.68 N (dY24.5 N
M——‘ﬁ@\ Solution:
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Circular Motion
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(Ex-19)- A tmc}g IS moving in a citeuiar path on a rough horizontal road of radius
25 m with a constant speed of 10 m/s. The coefficient frictions which prevent the
e Fm e
truck from sliding off the road is:
(a) 0.36 (b) 0.15 (c) 0.3 (d) o4
W Solation: /B\F o
o IRy
R=25w G Wu/a)wafd-m
N = | o "M} S =z —
Py =2 _ aeo w,,r,w
- 219x9.¢
= 0. &

(Ex-20)- A truck is moving in a civcular road of radius 20 wm. The friction

car without sliding off the road ?

coefficient between the road and the tires is 0.6. What is the maximum speed for the
(a) 5 w/s

(b) 10.8 m/s

(¢) 5.4 m/s (d) 4.2 m/s
\/E\ Solution: /B\f
R = Zowm
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road on the car is:

r 7340
mass of the car is 1500 Kg. The magmtude of the force of the friction exerted bg the

(Ex-21)- A car travels in a circle of radius 5Om at constant speed of 13 m/s. The

or ‘)

) -~ P

Qs o

(a) 3630 N (b) 4320 N  (¢) SO70 N (d) 5880
».V)Ui o W&
” \/?S\ Solution: /B\f
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